SANJISIMO

Name:

Date: September 21, 2020
Quiz Lesson 5 and 6 Chapter 1
Mrs. Pérez

Math 4th grade

L Round to the accuracy of the underlined digit.(20 pts)

56,914 =0 77,453 = 63,678 =
19,113 = 15,003 = 33,575 =
33,446 = 84,822 = 95,150 =
49,332 = 3,655 = 97,722 =
59,899 = 32,420 = 20,151 =
21,391 = 75,705 = 57,311 =
67,195 = 77,303 = 90,205 =



II. Tell the place-value position to which each number was
rounded. (10 pts)

345,679 — > 346,000 thousands

23,811 —— 23,800

4,571 » 5,000

345,109 —— 300,000

6,437 — » 6,440

321,956 ——* 300,000

45,111 —* 45,100

5,346 — 5,350

234,457—* 234,500.

3,789 —* 3,800




III. Solve the problem (5pts)

A car dealer made more than 300,000 but less than 400,000 last
month. There is a 5 in the ones place, a 3 in the tens thousands
place, a 2 in the hundreds place, a 8 in the thousands place, and

a 7 in the tens place. How much money did the car dealer make
last month?




